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1. Evaluate the following integrals (show all steps)
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2. Sketch the solid obtained by revolving the region in the plane enclosed by the curves x]
y=1r?+1and y =z + 3 about the z axis. Find its volume. mh[?
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3. Sketch the surface obtained by rotating the curve segment & = siny, 0 < y < 7 about
the y axis. Find its area.

« d8 = 27x m - Q-T\-S'/Cw\aj (C%H"[’B)L“‘ %z_
b. © =0T Sy ) )
MMC&D?‘M&'{:—;W&L&?"&’ S:S?:LS:’Q‘\Tng—HJM
%\& (w\"lkf - S\E\ AAA: UkSUC"—FL - Smé.iuz,ﬂ = A ul — g :z+\
‘ Sk |

M

(((

du

Coloe fur (i _ =
st da= [ + arcsak u } M k
S: -y W F accinh( =y ] K
QJ—Z + arcsnh (-\\) (J?— Tafc/%mk(\\ﬂ 2w (2 + arcsih(n) ]

8 ~ o
(£ efﬂ-fﬁ%{nﬂ\/(}” ) in,\ﬁ ‘EC —C 19\ 1 o e —,t —-Z

@9)‘26&—\ L T B T N I e L
U e R e o

> f:=sin; yrange:=y=0..Pi; > ds:=2*Pi*f(y) *sqrt((diff(Z(y).y)) “2+1)
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4. Luigi brews up a cup of espresso, which clocks at 90° (Celsius). He gets distracted by a
phone call and after two minutes the espresso cools down to 60°. If the room temperature
is 207, how soon does Luigi need to hang up, if he doesn’t want to drink tepid 30° espresso?
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> subs (T (t)=30,sss) ;

5. Evaluate the following integrals (show all steps)
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